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Ch. 2 Kinematics in 1-D Assessment

Essex High School
Physics 200

Part I:

1) Describe an example of motion that has negative velocity and
positive acceleration.
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Formulas and info:
1 .,
Ax = vgt + 5at
v=vy+at

v? = v} + 2abx

1mile = 5280 feet
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Ut =0.205

2) Describe an example of motion that has zero velocity and negative acceleration.
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3) Three parts:
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4) (2pts) Suppose an object is launched
directly upward in the absence of air resistance s 12 '
(i.e. freefall). The object goes up and comes 50 10 :
down, remaining in the air for 4 seconds. On the 40 8 '
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Problems [4 points Each = Useful Equation (1/2 point) + nits for answer (1/2
Work — Givens substituted into equations and solved (1/2 point) + Correct u \
point) + Correct answer (1 point).]

of 6.00 m/s over a
1. Video analysis of a car shows that it is abl/e’t_o_‘s_;art from rest and reagh a speed
di[tance of 6m meters. Calculate the car’s@ccelerati
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2. Acaris traveling at a constant rate of 26#/s. At some point, the car begins to undergo constant
acceleration of 4m/s”. If this acceleration lasts for 5 seconds, what’\dn:stance 93es the car travel during
the acceleration period? /. ‘..
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3. Apumpkin is dropped from the top of a tall building. If the pumpkin freefalls to ground level in a

time of 2.5 seconds, what is its wﬂm&when it hits the ground?
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4. Inthe absence of alrresistance (frenfal
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5. Starting from rest, ymr accelerates at a const.mt rate of 3m/s untll it reaches its top speed oi
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Physics 200 Extended Problem (12pts) Ham
Chapter 2 Test (2 points each)

wn
A student is stuck on a one-dimensional line in the X dimension. She can move left f?dtr;ur]::t:g: ;‘;tr:/p; du(:mI ’
back, or forth. Starting from rest at point A (x=0m, t=0s), she accelerates to the right a - instarly chANgES 16
she reaches point B a time of 6 seconds. At t=6s, (as she passes point B) her acceleratl(? i sTihe FoaThES
-1.5m/s’ (leftward acceleration). She continues traveling with this same -1. 5m/s’ accelera

ction at
point D 30 seconds later (at t=36s). After leaving point B, and before reaching point D, she reverses dire
point C. At point D she crashes into an immovable wall and stops.

Acceleration between points Aand B =

***Not drawn to sc_al_«_a!:': __________ C _oEtiEu_ec_i_ P_at_h_ -
2.5m/s* e -
Acceleration between points 8 and D = - ° B
dfe D (end) A(start) B
x=? x=0m <.- X=7%
£ -
(a) What is her velocity at point B? t=36s 1=0g Q254> =g
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(b) What is the distance of point B from the origin (Point A, x=0m)?

(c) How much™ti dpses as she travels from point B to point C?
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(d) What is the distance between points B and C?
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(e) What is her velocity when she reaches point D (before she stops, while she is still moving)?
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(f) What is her total d:splacement (not distance traveled') for the entire trip — through all points A-D?
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